
   2زبان انگليسي 

Part A: Grammar & Vocabulary  

1- Our teacher always says that ..................... new technologies has changed people’s lifestyle in a harmful way.  

1) we use 2) use 3) using of  4) using 

2- I .....................the guitar ever since I ..................... a teenager.  

1) played / was  2) have played / have been 

3) have played / was   4) played / have been 

 

3- He was a great poet, but later he became interested ..................... short stories.  

1) writing 2) wrote 3) in writing 4) in write of  

 

4- The ..................... of a cash-machine is to allow people to get cash outside of banking hours.  

1) agreement 2) technology 3) reality  4) function 

 

5- One of the club members raised a question but it was not taken ..................... .  

1) suitably 2) seriously 3) necessarily 4) surely 

 

6- Those who advise others to eat chocolate after each meal must ..................... their idea.  

1) rethink 2) disagree 3) regain 4) predict 

 

7- The spacecraft was scheduled to reach Saturn in 2004 for its four-year ..................... to study the planet.  

1) service 2) mission 3) progress 4) device 

 

8- The rich man wanted to help with his brother’s project, but couldn’t decide if it was ..................... of his 

attention.  

1) reasonable 2) normal 3) harmful 4) worthy  

 

9- Calcium is the main ..................... needed for building and keeping strong bones.  

1) effect 2) disorder 3) mineral 4) miracle 

 

10- There are ..................... ways of getting to the station. I wonder why you took a taxi there in such heavy traffic. 

1) positive 2) various 3) creative 4) avoidable 

 

11- I don’t think I’ve ever done anything that would ..................... my parents to want to punish me.  

1) cause 2) confuse 3) discuss 4) limit 

 

Part B: Cloze Test  

Most people who try to lose …(12)… would probably agree that the word “diet” comes from the verb “to die”. 

In the United States, …(13)… overweight is a great problem. Food scientists have many suggestions to help 

people make a difference between real hunger and other …(14)… that make them eat. For example, a traveling 

salesman …(15)… that he ate lots of things only while driving his car. Now he …(16)… keeping any food in his 

car.  

 

12- 1) pressure  2) habit 3) harm 4) weight 

13- 1) be 2) being 3) has been 4) having been 

14- 1) hobbies 2) accidents 3) products 4) factors 

15- 1) realize 2) realizing 3) realized 4) have realized 

16- 1) avoids 2) limits 3) rushes 4) forbids 

 

 

 

 

 

 

 



 

 

Part C: Reading Comprehension 

Studies show that rapid increase in population growth creates problems for developing countries. So why don’t 

people have fewer children? The information collected from the developed countries suggests that it is only 

when people’s living standards begin to rise that birth rates begin to fall. There are good reasons for this.  

    Poor countries cannot afford social services and old age pensions – the money they get from the government 

when they become old and can’t work – and people’s incomes are so low they have nothing to save for the 

future. As a result, people look to their children to provide them with financial help in their old age. Having a 

large family can be a form of insurance. And even while they are still quite young, children can do a lot of 

useful jobs on a small farm. So poor people in a developing country will need to see clear signs of much better 

conditions ahead before they can think of having smaller families. But their conditions cannot be improved 

unless there is a reduction in the rate at which population is increasing. This will depend on a very much wider 

acceptance of family planning and this, in turn, will mean basic changes in people’s ideas.  

 

17- What is the best title for the passage? 

1) Reasons for Population Increase 

2) Children’s Function in Poor Countries  

3) People’s Income in Developing Countries  

4) Family Planning Programs in Developing Countries  

 

18- According to the writer, people in poor countries have a lot of children mainly because ..................... .  

1) they receive government support for every child  

2) they rely on them for support during their old age  

3) methods of family planning are not being practiced in those countries  

4) they usually become involved with farming, which makes it easier for them to get their food  

 

19- The writer mentions that, before deciding upon family planning, ..................... .  

1) people in poor countries should be moved to urban areas  

2) governments of poor countries should change people’s income and ideas  

3) governments of developing countries must forbid parents from using child labor on farms  

4) developed countries should help developing ones to improve their standards of living 

 

20- The word “they” in line 7 refers to ..................... . 

1) parents 2) people 3) family 4) children 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


